
 

Paper: 1MA1/2F 

Question Answer Mark Mark scheme Additional guidance  

16 (a) 170 B1  for answer in the range 167 to 173 

 

 

 (b) 

 

35 M1 

 

 

for correctly using readings from the graph as a factor of 1000 from the 

grams scale,  

eg 200 × 5 or 100 × 10 or 20 × 50 or 250 × 4 

 

or for method to use multiples of grams and corresponding ounces 

readings,  

eg 1000 ÷ “answer to (a)” × 6  

or 1000 ÷ grams × ounces oe 

 

May be seen as a build-up method using 

multiple readings that can be read from 

the graph but must total 1000 grams 

 

(ounces, grams) is a point on the line 

   A1 for an answer in the range 34 to 36 

 

 

17  Region R shown C1 for arc drawn, radius 4 cm, centre A 

 

Allow free hand drawing 

 

   C1 

 

for perpendicular bisector of CB drawn 

 

Allow free hand drawing 

 

   C1 for fully correct region R shown (inside the arc from A and left of the 

bisector)  

 

Ignore absence of “R” if region is 

unambiguously shown eg by shading 

 

18  12 P1 

 

 

for a beginning process, 

eg 1800 – (1800 × 0.56) oe or 1800 × (1 – 0.56) (= 792) 

or 1800 ÷ 100 × 56 ÷ 66 (= 15.272…) 

or 1800 ÷ 66 (=27.272…) 

or [44%] ÷ 66 

 

 

 

 

[44%] is the value they clearly believe to 

be 44% of 1800 

   P1 

 

for a complete process, eg “792” ÷ 66 

or “27.272…” × (1 – 0.56) oe 

or “27.272…” – “15.272…” 

 

 

   A1 cao 

 

 

 




